General Algebra 11

[

Lesson #3 Unit 1

Class CWS #3

For Worksheets ;

[
I.‘I

S & ;

6



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12

5 <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
> <3x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12

S<35x<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15
1



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

I<x<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x<3



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15

1<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15
1<x<3

S=]1




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15
1<x<3

S=[1,




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15
1<x<3

S=[1,3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15
1<x<3

S=[1,3]




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

1. 2<5x-3<12
5<5x<15
1<x<3

S=[1,3]




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12 <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12 <4x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12 <4x <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. -3<4x+9 <15
-12<4x<6
-3 <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6

-3<Xx



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6

3<x<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5

6 -5 4 3 2 -1 0 1%



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5

S =(

o0

6 -5 4 3 2 -1 0 1%




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5

S=(-3

o0

6 -5 4 3 2 -1 0 1%




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5

S=('39

o0

6 -5 4 3 2 -1 0 1%




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5

S=(-3,1.5

o0

6 -5 4 3 2 -1 0 1%




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5

S=(-3,1.5)

o0

6 -5 4 3 2 -1 0 1%




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

2. 3<4x+9 <15
-12<4x <6
-3<x<1.5

S=(-3,1.5)

o0

6 -5 4 3 2 -1 0 1%




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
10 <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10 < 3x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10<3x <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10<3x <0



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0

-10
3



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0

-10
3 <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10<3x <0

-10
3 <X



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10<3x <0

-10
3 X3



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10<3x <0

'?<x§0



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10<3x <0

'?<x§0




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5
-10<3x <0

'?<x§0




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
-10




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
-10
3
| P I S N N R B
| N



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
0 xv <0
3 —
-10
] 3 | I
R e e L. S B e B e B
-6 5 4 3 -2 -1 0 1 2 3 4 §5 6



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
-10
3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
S =

-10

3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
S = (

-10

3

-6 5 4 -3 -2 -1 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
S=(%
-10 (3
3

-6 5 4 -3 -2 -1 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
S=(%,
-10 (3
3

-6 5 4 -3 -2 -1 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
S=(%,0
-10 (3
3

-6 5 4 -3 -2 -1 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
S=(5,0]
-10
3

-6 5 4 -3 -2 -1 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

3. 5<3x+5<5

-10<3x <0
'?<x§0
S=("5,0]
-10
3

-6 5 4 -3 -2 -1 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10

4<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 < 4x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10

4 <4x <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20
1



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<5



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20

1<x<5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20
1<x<5

S=]1




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20
1<x<5

S=[1,




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20
1<x<5

S=[1,5




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20
1<x<5

S=[1,5)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

4. -6<4x-10<10
4 <4x <20
1<x<5

S=[1,5)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3 <27



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3 <27
18



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3 <27
18 <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3 <27

-18 <-6x <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 < -6x < 24



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 < -6x < 24
3



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 < -6x < 24

3>



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 < -6x < 24

3>x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 < -6x < 24

32x2



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 < -6x < 24

3>x>-4



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

-4



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

_45



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

-4 <X



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

4<x<



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

-4<x<3



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

-4<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

-4<x<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3 <27

-18 <-6x <24
3>x>-4
-4<x<3
o o
-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4

-4<x<3

—————

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4
-4<x<3
S =
—————

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4
-4<x<3
S =]
-~

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4
-4<x<3
S=|-4
———————

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4
-4<x<3
S=|[-4,
———————

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4
-4<x<3
S=[-4,3
—————

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4
-4<x<3
S=[-4,3]
-~

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

5. -15<-6x+3<27
-18 <-6x <24
3>x>-4
-4<x<3
S=[-4,3]
-~

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
-9



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
-0 <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
-9 <-2x



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

-0 <2x <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

9 <2x <7
9

2



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9
5 >



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9
y — X



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9
> > X >



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

oA
2



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -1
> X > >

2
el
5y <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

-7
7 <X



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

-7
> <x <



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

-7 9
7 <X<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

-7 9
7 <X<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

-7 9
7 <X<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7

9 -7

7 ~ X~ 5

-7 9

7 <X<3
-7
)
A~
Y



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

9 <2x <7
9 -7
7 ~ X~ 5
-7 9
7 <X<3
-7
)
gl |
© |



General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

-7 9
7 <X<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4
9 <2x <7

9 -7
7 ~ X~ 5

-7 9
7 <X<3




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7

9 -7

7 ~ X~ 5

-7 9

7 <X<3
-7 9
) ;)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7
9 -7
7 ~ X~ 5
-7 9
7 <X<3
S=
-7 9
) ;)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

9 <2x <7
9 -7
7 ~ X~ 5
-7 9
7 <X<3
S =(
-7 9
) ;)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7
9 -7
7 ~ X~ 5
-7 9
7 <X<3
7
s=(%
7 2 9
) ;)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7
9 -7
7 ~ X~ 5
-7 9
7 <X<3
7
s=(%
5 (5, 5
) ;)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7

9 -7

7 ~ X~ 5

-7 9

7 <X<3

79

s=(7,%
5 7 9 2 o
) ;)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7

9 -7

7 ~ X~ 5

-7 9

7 <X<3

79

S=(%,7%)
5 7 9 2 o
) ;)




General Algebra Il CWS #3 Unit 1

Solve each of the following inequalities. Then express the solution
set using interval notation and sketch its graph.

6. -12<-2x-3<4

)< 2x <7

9 -7

7 ~ X~ 5

-7 9

7 <X<3

7 9

S=(%,7%)
5 79 2 o
) ;)




General Algebrall CWS #3 Unit 1



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or.




General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.




General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:
7.



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:
7. 3x+5<11



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:
7. 3x+5<11 and



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:
7. 3x+5<11 and 2x+3>-3



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8.



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>5



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>35 and



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>5 and 4x+6<14



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—3>5 and 4x +6 < 14
9.



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>5 and 4x+6<14
9. x-1>3



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>5 and 4x+6<14
9. x—-1>3 and



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1
Type 2 or:

10.



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1
Type 2 or:

10. 2x+7>1



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:
10. 2x+7>1 or



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1
Type 2 or:

10. 2x+7>1 or 3x-2>10



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11.



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11. Sx+11<1



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11. -5x+11<1 or



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11. -5x+11<1 or x+5<1



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11. -5x+11<1 or x+5<1
12.



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11. -5x+11<1 or x+5<1
12. 3x+4>1



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11. -5x+11<1 or x+5<1
12. 3x+4>1 or



General Algebrall CWS #3 Unit 1

Compound inequalities are formed when two basic
inequalities are ‘joined’ using the ‘connective’ and
or the ‘connective’ or. Here are some examples.

Typel and:

7. 3x+5<11 and 2x+3>-3
8. -2x—-3>5 and 4x+6<14
9. x—-1>3 and -2x-5>1

Type 2 or:

10. 2x+7>1 or 3x-2>10
11. -5x+11<1 or x+5<1
12. 3x+4>1 or 4x+10>2



Algebra II Class Worksheet #3 Unit 4
Solving Compound Inequalities - Type 1 and



Algebra II Class Worksheet #3 Unit 4
Solving Compound Inequalities - Type 1 and

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6
X



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6
X <



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6
x<2



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x
x<2



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x >
x<2



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 X



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 X >



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 x> -3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6 2x > -6
x<2 and x>-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6 2x > -6
x<2 and x>-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6 2x > -6
x<2 and x>-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x<6 2x > -6
x<2 and x>-3

A
o
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

A
o
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

A
o
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

A
o
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

) | | | | | | <i> | | |




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

) | | | | | | <i> | | |




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

) | | | | | | <i> | | |




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

-3

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

-3 <

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

-3<Xx

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

3<x<

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

3<x<?2

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

3<x<?2

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3
3x <6 2x > -6
x<2 and x>-3

3<x<?2

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3

3x<6 2x > -6
x<2 and x>-3
-3<x<2
S =

o0

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3

3x<6 2x > -6
x<2 and x>-3
-3<x<2
S=(

o0

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3

3x<6 2x > -6

x<2 and x>-3
-3<x<2
S=(-3

o0

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3

3x<6 2x > -6

x<2 and x>-3
-3<x<2
S=(-3,

o0

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3

3x<6 2x > -6

x<2 and x>-3
-3<x<2
S=(-3,2

o0

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3

3x<6 2x > -6

x<2 and x>-3
-3<x<2
S=(-3,2)

o0

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

7. 3x+5<11 and 2x+3>-3

3x<6 2x > -6

x<2 and x>-3
-3<x<2
S=(-3,2)

o0

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x >




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x-3>5 and 4x+6<14
-2x > 8




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x-3>5 and 4x+6<14
-2x > 8

X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x-3>5 and 4x+6<14
-2x > 8

X =




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x-3>5 and 4x+6<14
-2x > 8

x <-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x-3>5 and 4x+6<14
-2x > 8 4x

x <-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <

x <-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x <-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x <-4 X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x <-4 X <




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x <-4 x <2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x <-4 x <2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>95 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>95 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x=<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14
-2x > 8 4x <8

x<-4 and x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14

-2x > 8 4x <8
x<-4 and x<2
x <-4

S =




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14

-2x > 8 4x <8
x<-4 and x<2
x <-4

S=(




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14

-2x > 8 4x <8
x<-4 and x<2
x <-4

S = (-0




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14

-2x > 8 4x <8
x<-4 and x<2
x <-4

S = (=,




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14

-2x > 8 4x <8
x<-4 and x<2
x <-4
S=(-o,-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14

-2x > 8 4x <8
x<-4 and x<2
x <-4
S=(-0,-4]




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

8. -2x—-3>5 and 4x+6<14

-2x > 8 4x <8
x<-4 and x<2
x <-4
S=(-0,-4]




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1

X >



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1

Xx>4



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2X

Xx>4



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x >

Xx>4



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6

Xx>4



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 X <




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3

q
These sets do not intersect !!

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6

|~
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x<-3

q
These sets do not intersect !!

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6

\ >
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3

q
These sets do not intersect !!

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6

\ >
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
x>4 and x <-3

no solution

q
These sets do not intersect !!

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6

\ >
\ 4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3

no solution




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3

no solution




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3

no solution
S =




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3

no solution
S=9




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 1 and
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘intersection’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

9. x—-1>3 and -2x-5>1
-2x > 6
X > 4 M x <-3

no solution

S=




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x >



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6

X



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6

X2



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6

X >-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x

X >-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >

X >-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

X >-3



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

X >-3 X



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

X >-3 X >



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

X >-3 X >4



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

Xx>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

Xx>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4

M—%

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or X >4

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or x>4

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or x>4

X

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or x>4

X >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or x>4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or x>4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10
2x > -6 3x >12

x>-3 or x>4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10

2x > -6 3x >12
x>-3 or Xx>4
X >-3
S =




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10

2x > -6 3x >12
x>-3 or Xx>4
X >-3
S=]




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10

2x > -6 3x >12
x>-3 or Xx>4
X >-3
S=1[-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10

2x > -6 3x >12
x>-3 or Xx>4
X >-3
S=1[-3,




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10

2x > -6 3x >12
x>-3 or Xx>4
X >-3
S=[-3,




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10

2x > -6 3x >12
x>-3 or Xx>4
X >-3
S=[-3,0)




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

10. 2x+7>1 or 3x-2>10

2x > -6 3x >12
x>-3 or Xx>4
X >-3
S=[-3,0)




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
Sx <




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

X >




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

Xx>2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

X>2 X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

X>2 X <




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

Xx>2 x <-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

Xx>2 x <-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-S5x < -10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

L % R
€<~——o 0
0O 1 2 3 4

S 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S = (-0




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-OO,




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-0,-4




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-0,-4)




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-0,-4)U




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-0,-4)U/(




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-0,-4)U (2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-0,-4)U (2,




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-0,-4)U (2,




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-OO,-4)U(2,00)




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

11. -5x+11<1 or x+5<1
-5x <-10

x>2 or x<-+4

S=(-OO,-4)U(2,00)




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3

X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3

X2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3

x >-1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x

x >-1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x >

x >-1



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x >-1




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x >-1 X




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x >-1 X <




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x > -1 x <2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x > -1 x <2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2

PN S S———Y

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.
Step 3: Express the final solution in simplest form.
Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8

x>-1 or x<2

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8
x>-1 or x<2
X can be any number.

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x > -8
x>-1 or x<2
X can be any number.

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x > -8
x>-1 or x<2
X can be any number.

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x > -8
x>-1 or x<2
X can be any number.

S =

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8
x>-1 or x<2
X can be any number.

S = (

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8
x>-1 or x<2
X can be any number.

S = (-0

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x > -8
x>-1 or x<2
X can be any number.




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x > -8
x>-1 or x<2
X can be any number.

S= (-0,

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6



Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. 'Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8
x>-1 or x<2
X can be any number.

S=(-00,00)

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Step 3: Express the final solution in simplest form.

Solve each of the following for x. Represent the solution set
as an interval or the union of intervals and sketch its graph.

12. 3x+4>1 or -4x+10>2
3x >-3 -4x > -8
x>-1 or x<2
X can be any number.

S=(-00,0)

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6




Algebra II Class Worksheet #3 Unit 4

Solving Compound Inequalities - Type 2 or
Step 1: Solve each basic inequality.
Step 2: The solution set of the compound inequality is the
‘union’ of the solution sets of the basic inequalities.

Qfen 3° Exnrece the final colntion in simnlect form.

» Good luck on worksheet #5.

12. 3x+4>1 or -4x+10>2
3x>-3 -4x > -8
x>-1 or x<2
X can be any number.

S=(-00,0)

€« >

-6 5 4 -3 -2 -1 0 1 2 3 4 5 6







